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Constant = 16.88 +- 1.834 
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Constant = 29.89 +- 3.236 
Mean     = 33.26 +- 0.151 
Sigma    = 1.708 +- 0.1068 
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Constant = 30.63 +- 3.342 
Mean     = 42.96 +- 0.1462 
Sigma    = 1.641 +- 0.1034 
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Constant = 27.58 +- 2.998 
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Constant = 23.77 +- 2.584 
Mean     = 41.26 +- 0.1891 
Sigma    = 2.131 +- 0.1337 
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Constant = 23.77 +- 2.584 
Mean     = 41.26 +- 0.1891 
Sigma    = 2.131 +- 0.1337 
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Constant = 24.05 +- 2.614 
Mean     = 32.97 +- 0.1869 
Sigma    = 2.107 +- 0.1322 
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Constant = 24.05 +- 2.614 
Mean     = 32.97 +- 0.1869 
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Chip 0 Input Noise at 2.00fC Nent = 127    

Constant = 90.47 +- 10.05 
Mean     = 606.4 +- 1.653 
Sigma    = 18.69 +- 1.225 
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Constant = 90.47 +- 10.05 
Mean     = 606.4 +- 1.653 
Sigma    = 18.69 +- 1.225 
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Chip 1 Input Noise at 2.00fC Nent = 128    
Constant = 79.82 +- 8.743 
Mean     = 603.1 +- 1.878 
Sigma    = 21.34 +- 1.369 
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Constant = 79.82 +- 8.743 
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Chip 2 Input Noise at 2.00fC Nent = 126    
Constant = 77.07 +- 8.481 
Mean     =   663 +- 1.932 
Sigma    = 21.75 +- 1.396 
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Constant = 77.07 +- 8.481 
Mean     =   663 +- 1.932 
Sigma    = 21.75 +- 1.396 

Input Noise (ENC)0 500 1000 1500 2000 2500

n
(C

h
an

n
el

s)

0

10

20

30

40

50

60

70

80

Chip 3 Input Noise at 2.00fC Nent = 127    
Constant = 75.67 +- 8.184 
Mean     = 587.8 +- 1.984 
Sigma    = 22.31 +- 1.384 
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Constant = 75.67 +- 8.184 
Mean     = 587.8 +- 1.984 
Sigma    = 22.31 +- 1.384 
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Chip 4 Input Noise at 2.00fC Nent = 128    
Constant = 72.28 +- 7.852 
Mean     = 675.7 +- 2.074 
Sigma    = 23.36 +- 1.464 
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Constant = 72.28 +- 7.852 
Mean     = 675.7 +- 2.074 
Sigma    = 23.36 +- 1.464 
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Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 75.72 +- 8.237 
Mean     = 574.4 +- 1.979 
Sigma    =  22.3 +- 1.403 

Chip 5 Input Noise at 2.00fC Nent = 127    
Constant = 75.72 +- 8.237 
Mean     = 574.4 +- 1.979 
Sigma    =  22.3 +- 1.403 
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